
Yokogawa Electric Corporation

Data  Collector  DC100
Model   DC100

Copyright Aug. 1997(YK).2nd Edition:Sep.1997(YK)

Parts   List
Maintenance
Customer

CMPL  DC100-01E



2

2 3 4 8 9

7

6
5

38

42
13

14
15

1617

18

12

36

37

48

41
40
39

34

35

33

29

30

47

19
20

21

23

22

26 45
46

4428
25

24

43

27

31

32

11 10 1

Sep.1997CMPL  DC100-01E



Sep.1997 CMPL DC100-01E

3

(select)

DC Inset Panel Assembly  *61B9241BY21

(select)

F.H.Screw,M5x122Y9512EB48

2-Wire Assembly (CPU to PWR)
4-Wire Assembly (CPU to Con)
Edging Saddle
Sumi Card *1

B.H.Screw,M3x4
B.H.Screw,M3x4 *5
R-Con. Board Assembly *5
Bracket *5

1
1
1
1

2
4
1
1

B9232XE
B9241XM
B9241CS
B9231XH

Y9304LB
Y9304LB
B9241XD
B9241BG

46
45
44
43

42
41
40
39

Plate *4

Screw (with toothed lockwasher)
Pipe
Spring
Cover
B.H.Screw,M4x5

B.H.Screw,M3x8
Block
Battery Assembly
Clamp
Spacer *2,*3

B.H.Screw,M3x4
Main Board (exp) *5
Main Board (std) *4
4MB RAM Board *3
2MB RAM Board *2

Cover

1

3
1
1
2
4

2
2
1
1
3

5
1
1
1

1
1

B9241BF

Y9306LK
B9241AS
B9871BF
B9241AY
Y9405LB

Y9308LS
B9241AZ
B9231XG
B9905RW
B9234YE

Y9304LB
B9241YA
B9241WA
B9241XC
B9241WC

B9241AW

38

37
36
35
34
33

32
31
30
29
28

27

26

25

24
B.H.Screw,M2.3x4 *1
Memory Sistem *1

Inlet Panel Assembly

AC Terminal Panel Assembly (-W)

B.H.Screw,M3x6

Knob
Knob
Bracket
B.H.Screw,M3x12

B.H.Screw,M3x10

Power Assembly (AC)
Power Assembly  *6

3
1

1

1

1

1
1
1
1

1

1
1

Y9204LB
A1092UN

B9241BW

B9241BX

Y9306LB

A9049ZG
A9102ZG
B9241AX
Y9312LB

Y9310LB

B9232WA
B9231WE

23
22

20

19

13

18
17
16
15

14

12
11

10
9
8
7
6

5
4
3

Sumi Card

VFD Case
Gasket
FFC
Key Board Assembly
Knob

Key Top
VFD Assembly
Sheet
VFD Cover

1

1
2
1
1
1

1
1
1
1

B9231XH

B9231DE
B9905PT
B9233KN
B9231WA
B9241AB

B9241AC
B9233KJ
B9233KK
B9231DD

1
Description
Display Assembly

2
1

Item
B9241AA
Part No. Qty

47 B9241XL 1 6-Wire Assembly (CPU to AD)

(select)

(select)

(select)

Note: *1 DC100-        -    1
*2 DC100-        -    2
*3 DC100-        -    3
*4 DC100-1    -
*5 DC100-2    -
*6 DC100-        -        -2



4

1

2
3

4

5

6

11 14

14

15

13

13

12

10

9

7

8

-W

Sep.1997CMPL  DC100-01E

14
13

12
11

10
9
8
7
6

5
4
3

Fuse Carrier
Fuse (accessory)

Name Plate
Name Plate (/C5)

B.H.Screw,M4x5
B.H.Screw,M3x12
Back Cover
Foot
Blind Cover Assembly

B.H.Screw,M4x16
B.H.Screw,M3x5
4slot Back Panel
4slot Mother B. Assembly

1
2

1
1

1
1
1
2
4

5
2
1
1

A1052EF

15 Fuse (accessory)  *12A1354EF

A1350EF

B9241CC
Name Plate  *11B9241CB

B9241CD

Y9405LB
Y9312LB
B9241BT
B9236CK
B9236BE

Y9416LB
Y9305LB
B9236CE
B9241WG

QtyPart No.
B9241CX

Item
1
2

Frame Assembly
Description

1

(select)
*1 DC100-        -        -2

 DC100-        -        -2

Note:



Standard  Accessories

5

1

2

3

4

5

6

7

8

13

12

11

10

9

Sep.1997 CMPL  DC100-01E

*1
Note:

DC100 -M
*2 DC100 -D
*3 DC100 -F
*4 DC100 -S
*5 DC100 -R

(select)

(select)

Power Supply Code (UL.CSA standard) *1,*2
3P-2P Adapter *1
Power Supply Code (VDE standard) *3

Power Supply Code (BS standard) *4
Power Supply Code (SAA standard) *5

1
5
4 A1006WD

A1253JZ 1
1

1
1

A1009WD

A1023WD
A1024WD

6
7
8

AC  Adapter  Assembly *61B9230ZW9
AC  Cord  (UL.CSA Standaed) *1*6,*2*61B9988YA10
AC  Cord  (VDE Standaed) *3*61B9988YB11
AC  Cord  (SAA Standaed) *5*61B9988YC12
AC  Cord  (BS Standaed) *4*61B9988YD13

Fuse(T2.5A)1A1350EF
Fuse  *61A1354EF

   -
   - (select)

(select)

1 1 Instruction Manual

QtyPart No.Item Description

1 Software Package (English) (-2)   -
2 1 Software Package (Japanese) (-1)

3

*6 DC100-        -        -2


